Application Deriv Practice Key

1.  6250 mph
2.  tip:  12 ft/s   length:  4 ft/s
3.  0.8042 m/h    4.  -0.196 ft/s    5.  48.9968 mph   6.  30 cm x 15 cm x 10 cm    7.  cont on [1,3] and diff on (1,3)  c = 
[image: image1.wmf]3

  b)  cont [1,4] and diff (1,4)  c = 9/4   8.  13.207 ft    9.  t = .923 hrs = 7:55:23 am    10.  $150   11.  y = x -  ; y(4) = 4-  13 a)  v(t) = 24 – 32t  a(t) = -32  b)  25 ft   c) 2 sec  d)  -40 ft/s   15.  inc. (0,1)  dec (1, 
[image: image2.wmf])
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; lmax (1,2)  lmin (0,0) ; cd (0, 
[image: image3.wmf])
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 cup never; no poi   15b) inc never, dec (0, ; no extrema except at endpts:  abs max (0, 0) abs min (2;  cdown (0, concave up poi (


	T
	V(t)
	Dir
	A(t)
	Speed inc/dec

	(-2,0)
	+
	Rt
	-
	Dec

	T=0
	0
	Ch
	-
	0

	(0,1)
	-
	Lt
	-
	Inc

	T=1
	-
	Lt
	0
	Constant

	(1,2)
	-
	Lt
	+
	Dec

	T=2
	0
	Ch
	+
	0

	(2,4)
	+
	rt
	+
	inc


14b

	T
	V(t)
	Dir
	A(t)
	Spd inc/dec

	(0, 
	+
	Up
	+
	Inc

	T = 
	+
	Up
	0
	Constant

	
	+
	Up
	-
	Dec

	T=
	0
	Ch
	-
	0

	
	-
	Dn
	-
	Inc

	T = 
	-
	Dn
	0
	Constant

	(
	-
	Dn
	+
	Dec

	T = 
	0
	Ch
	+
	0

	(7
	+
	up
	+
	inc
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